BEEDEMHE

1. V=7 THEEDEW 2 DKEDAA—D

> REBOAA—D

BXDIEHDENL, ZTTHDEFEEFHOMAK, HRNSEETHRND 200m (FEDI|
(FTKFANJEFEEFNATOT, BATHEHIZEWIDO—DEINTWET  ELEEZRNLEZD
TRKRNINSETITZKE. BEIXERN 2~3t THD,

> BMGAA—D

BN 25 A—FILT—ILIZKE=HDIGE . BEML 25mT—ILORE(X, L=25m, W=
16m. H=1. BmTB00mM &%, ZND25mDT—ILIZEN 2t TIKEANT-BEIZ,. 600m =
2m/s=300st755, LEADT. ZMD25mT—ILEFHIKIZTADIZ 5 5 DEEAI IS,

2 M/sOKEIX. EXER-/MEHI 8 T 2 BTDOH 62 HADKEKELTHIEEThTIVS,

2. RHFNKBBTERIZEONBKEDSAA—D
> EHGAA—=D

RKHINAKELTHERFNKBBICEYARICEONZEXAKOREX. 510m/s
THb, BEML 25 A*—FILT—JL(600mM) IZKE=HBBE. 600mM+10m/s=60st
1B, LI=D 2T, ZD25mT—ILEEKIZTHDIZ1 9 DERNIH DD,

3. KHINEBERKOEKEDAA—

KFHNEBERKKHAN-KFNEF-EB-HED 4 THBBERX) [IMANNEIOE—VE
(6 A 6 BN 8 A 31 AIZIE. #35 m/sDRAKERKLTWES , COBRKETERF—L%E
— T EDIZEDLLLRFEA LMD TLEIN?

RER—LDBEIL 124 5 m3 THSB, 1,240,000 m =35 m/s=35,429s =590 4 =9.8 B/
MET, —H 24 BREIKERBLI-BEICE. REF—LADLH2. 5HRISBFEVET,

D% 35 m/sDERERKIX, EXER, Mg o2 EECKTE) D 7,000ha DA
KELTHIBEIN TNV,

BihEiEL 7,000ha (F. RRTAA=—JY—rERTAA=—FF+RRETAR=—L—)
D70ES DEIETHS.



